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Frafafea few ! ararigEes afeu it 37T Tt & wrer Hifv :
(i) FHIH-TTH HcT30 F97 8 | A 597 STRaR & |
(ii) IE Jo-97 YT @Sl H [a91f5d & — Ge-%, @, T, §0a & /
(iii) @E—% : Jo7 &1 1 817 7% TgladbediT 557 8 |
(iv) TE— : J97 G&I7 18 UF 19 3RE T G-3RI F7 & |

(v) TE—T: 507 G&IT 20 T 23 TF TY-IT0T FHR @ J97 & | I J97 T IR 80 G

100 37557 3 for@r 77 7153 |

(vi) @E— : J97 G 24 G 28 E-370T YR & 97 & | Fedeb 97 &7 IR 120 T 150
yec] 7 @7 ST F715T |

(vii) TS —F : F77 &1 29 T 30 /G HATERT F97 & |

T -%
(TG 19 17 S 3T § 1) (17x1=17)
1. ok R sl et foemansti 1 ermgees e 3i e fashen w1 == Hifsm - 1
i, 3T T 31k ferifeTe, Herml 3 gfdedl g dan g |
ii.  oieh fershel TRI: Heeht Wl &1 IUN A & |
iii.  ETHT: et forshdl STfrehat ok forshaT Y Yt b td 2 |
iv. STk I, TTierd fersht mefiv, T oot 3Heh $® SeTev # |

forepea
(A) hael i, ii 3N iii T B | (B) hdd ii, iii TR iv TS & |
(C) e i, iii 3 ivEE 2 | (D) “heel i, ii 3 iv &2 |
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General Instructions :

Read the following instructions carefully and follow them :

(1) This question paper contains 30 questions. All questions are
compulsory.

(it)  This Question paper is divided into five Sections — Section A, B, C, D
and E.

(iti) Section A - Question Nos. 1 to 17 are Multiple Choice (MCQ) type
Questions.

(tv)  Section B - Question Nos. 18 and 19 are Diagram/Source based

Questions.

(v)  Section C - Question Nos. 20 to 23 are Short Answer (SA) type
questions. Answer to these questions shall be written in 80 to 100

words.

(vt)  Section D - Question Nos. 24 to 28 are Long Answer (LA) type questions.

Answer to these questions shall be written in 120 to 150 words.

(vit) Section E - Question Nos. 29 & 30 are Map based questions.

SECTION - A
(Q. Nos. 1 to 17 are Multiple Choice Questions.) (17x1=17)
1. Read the following characteristics of wholesale trading carefully and
choose the correct option : 1
1. It is constituted by numerous intermediaries, merchants and supply
houses.

i1.  Wholesalers often extend credit to retail stores.
1ni. Generally retailers operate very largely on the wholesaler’s capital.

1iv. Mail order, automatic vending machines, street vendors are some of
its examples.

Option :

(A) Only 1,1 and 111 are correct. (B) Only 11, i1i and iv are correct.

(C) Only 1, 111 and iv are correct. (D) Only 1, i1 and iv are correct.

64/4/1/21 3 VWAARAAAAAAAAAAAAAAAAAAA, P.T.O.
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2. fafafEd 4 8 HH-41 Tova AR T1ed’ 1 J&Ied © ?
A) = B) feeeht
(C) fortan (D) e

3. =g wem feum € | 3 Al (A) ISR (R) § | GHT T 1 eqHYEe qigT
3R TEl faehed o1 == il |

AT (A) : 37IH T LT I h=d HTeA o6 Hid o T R 8 |
FHROT (R) : FENT TREEA ST UL T4 1 §gTd & |

Torehed :

A) (A)FRBIN(R) Terd ¢ |

(B) (A) TR IR (R) w2 |

(C) (A) 3 (R) 3H1 =& & 3R (R), (A) 1 T e 3 |

(D) (A) I (R) aHI HEl &, 7g (R), (A) ! Wel =T T8 & |

4. YRA H TRIT 6@ 6 e ghg g 1 Fafafad § 8 H-91 R TTed & 2
(A) T H I 3R faepm |
(B) I H Ty Teef gunati ¥ gew |
(C) I &l o1 ol & o |
(D) RI H USFTR o e h ST |

5. Tr=faRga 9 9 forg Tsa < T SEEat w61 Sfaea g4t g 2
(A) WHERY (B) T
(C) A (D) TS
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2. Which one of the following is the headquarter of the ‘World Trade
Organization’ ? 1
(A) New York (B) Delhi
(C) Geneva (D) London

3. Two statements are given below. They are Assertion (A) and Reason (R).

Read both the statements carefully and choose the correct option. 1

Assertion (A) : Industries based on ores are located close to the sources

of raw material.

Reason (R) : Industries maximise profits by reducing transportation
costs.

Options :

(A) (A) 1s correct and (R) is false.

B) (A) is false and (R) is correct.

(C) Both (A) and (R) are correct and (R) is correct explanation of (A).

(D) Both (A) and (R) are correct, but (R) is not correct explanation of (A).

4. Which one of the followings is the false reason of high growth rate of
urban population in India ? 1

(A) Higher economic development in cities
(B) Improvement in health condition in cities
(C) Rapid expansion of urban areas

(D) Availability of employment opportunities in cities

5.  Which one of the following states has the highest percentage of urban

population ? 1
(A) Maharashtra B) Goa
(C) Kerala (D) Gujarat

64/4/1/21 5 VWAARAAAAAAAAAAAAAAAAAAA, P.T.O.
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YT H Toh HiY B hl ToRNaTd F1= @ 5 & | $To] IH § IeT 3R e hi Tg=H
I |

o  IE I IATE HicTET & 1 Th HUA L |

o  UfTaH STTEA o TohH™ Ueh oY H 3! A9 B ST 2 |

o  ITR-UTEH YW § T8 G{® HHA o €I T IS ST 2 |

o IHH YT 3T TS UfTaH TS, I TGN 3T UTTe 7 |

YA :
@) T B) =
(C) == (D) =&

7. ARG fwma E | A A (A) 3B (R) 2 | ST HUAT b1 SIS Ul
3T TEl faehed o1 == il |
ARERUT (A) : T & 1 3TRIes forehe 3Heh TTerET 9T 31U BIar @ |
HROT (R) : 3171k faer@ & foru dqendfien o aner-amer fee i sravgsdi e 2 |
fomea :
A) (A TR, g R) TR |
B) (A) 7T ?, W (R) 9&1 7 |
(€) (A) IR (R) THI &8l & 3R (R), (A) 1 &8 AT |
D) (A) 3R (R) A HET &, g (R), (A) 1 HEl AT TE 2 |

8.  TH-I 1 Tt Ta¥-11 ¥ ShifvTe 37 &g} forehed o1 ==F hifsre
-1 wy-11
(TR ) ()
() THaSemmiEEn 1l () W
(b) TEESEmEEET2 (i) TMeEd
() UIIIemmia@m4 (i) T
(d) TRSEETERS5  (v) SE
foreney
(@ () (© @
A) @Gv) (i) G @
B) @Gv) (i) @) i)
(C) Gi) @(v) @) (i)
D) Gi) Gv) G @
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The characteristics of an agricultural crop in India are given below. Read
them carefully and identify the crop. 1

° It is a crop of tropical humid area.
° West Bengal farmers grow it three crops in a year.

° It is grown as a Kharif crop in north-western parts.

° West Bengal, Uttar Pradesh and Punjab are major producing states.

Crop:
(A) Wheat (B) Gram
(C) Bajra (D) Rice

7. Two statements are given below. They are Assertion (A) and Reason (R).
Read both the statements carefully and choose the correct option. 1

Assertion (A) : The economic development of a region depends upon its
resource base.

Reason (R) : Economic development requires technologies as well as
investment.

Options :

(A) (A) is correct, but (R) is false.

B) (A) is false, but (R) 1s correct.

(C) Both (A) and (R) are correct and (R) is the correct explanation of (A).
(D) Both (A) and (R) are correct, but (R) is not correct explanation of (A).

8. Match the Column-I with Column-II and choose the correct option : 1
Column-I Column-II
(National Waterway) (River)

(a) National Waterway No. 1 (1) Matai
(b) National Waterway No. 2 (1) Godavari
(c) National Waterway No. 4 (1) Ganga
(d) National Waterway No. 5
Options :

(@ (b (© (@
A) @v) G G @
B) v) ) @ @
€ @ @) @ @
D) @) Gv) @) @

64/4/1/21 7 VWAARAAAAAAAAAAAAAAAAAAA, P.T.O.
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fr=farRaa 5 & ®H-a1 ‘sl TR %1 3eEw R ?

A) H@ (B) AL
(C) wgw (D) TS
10. ¥Rd § AT TR 4 Geiig ggt foehed o1 =394 i
(A) T, ferars ofw wien (B) g, ST 3T 3T
(C) TeRHY, Tl I Higa (D) WIS, FHRIEYR 3R fiers

11. s%i & frafefaa el s eryEes afeu 3R it JehR hl Tea I :

® T STCIl H Ueheh! (<Al o ¥4 H @S ol 3 |
o TR TRIfEA H &l W e vedi 3 |
o T, TGS 3TN fEHr=Iel U3 o 317eh WA H 39 Yeh X <h! S 18 i1l 8 |

&t BT IHR :
(A) TRl (B) ferafea
(C) Ucelihd (D) ufdera

12. T v < fd o fote @&t fashed w1 =@ hifsm

T {eTel Sl TATTAT 1853 H g8 o % o9 34 5.1, &t W@
e Ffa i g |
(A) Hag (Fa3), gmy (B) hIcTohIdT (Shetehal), gITet
(C) =3 (WgT™), TGt (D) STETE (STEtR), shiefiehe
13. 1 YqWUl & FHfRad H & A IR 1 -1 a7 Faiiees THTid aidm 8 ?
(A) BT (B) & TER A
(C) oA (D) Yr=H o

14. ==Y e o 13T et # frefaiRaa & & forg s ht stferepar g 2
A) o (B) &
(C) whEA (D) T
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12.

13.

14.
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Which of the following is an example of a ‘Modern City’ ?
(A) Surat (B) Nagpur
(C) Madurai (D) Hyderabad

Choose the correct option related to Garrison towns in India :
(A) Raniganj, Digboi and Jharia (B) Mhow, Babina and Udhampur
(C) TItarsi, Katni and Kandla (D) Modinagar, Jamshedpur and Bhilai

Read the following characteristics of settlements carefully and identify its
type :

® Itis seen in the form of isolated huts in the forest.
® It is visible on the slopes of small hills.

® This kind of settlements are found in different parts of Meghalaya,
Uttarakhand and Himachal Pradesh.

Settlement types :
(A) Nucleated (B) Fragmented
(C) Hamleted (D) Dispersed

Choose the correct option to fill the blanks :

Indian Railway was introduced in 1853 and a railway line was
constructed from to covering a distance of 34 km.

(A) Mumbai (Bombay), Thane (B) Kolkata (Calcutta), Hugli
(C) Chennai (Madras), Madurai (D) Bengaluru (Bangalore), Calicut

Which one of the following human body system gets affected the most by

water pollution ?
(A) Nervous system (B) Circulatory system
(C) Respiratory system (D) Digestive system

Which of the following tribes is in majority in Jhabua district of Madhya
Pradesh ?

(A) Bhil (B) Tharu
(C) Bakarwal (D) Gaddi

1



!

-

feu MU arg=ee 1 UfeT 3T I §&A1 15 | 17 T 1 SR [ARdT :

TUH ATEAT H I TRl o I8 Tl aldt @ Fitch SN T 3T HieH
1 FAFfeaa STl & 8 aTell Jogati i @y 7Tk Jecdies § ohid § | See 14
effelt B1ell & ST HARIBTRI ST Wl H 1A Bld & | T&l 518 TRA ! TRET] HHT ST 2 |
Shtar-geamen e Bt 8, STRies o ARd B 8 3 I Menfiehl ' e B
7 1200 99 v fova & meft oo 55t sreeen 1 9 |

Toeiar aTeren o YW | YeHsfietdT St s+t Tt 2 fohq o8 w9 o @ et STt
B | I8 TN T §E Uog o h |1 AN 3 | T Heefl s 9 Wesdl § gur %
T T B HH 3T 7 | 38 3T o R, TGN § B 9TAT € I 3 BIaT & |

S 3T H YSHRfietdT 3T gddr eFT 31 g Srdl 8 | SHEE a1 q1 fRR
Bl STl g A1 HE id 8 ged] g | SHEEI RT3 Wfard 81 STl g 9 35k UTE deh-ieh]
T BT 8 | Wt e foamgdes qiam o S1ehr sl fafrd it 2 |

309 Yehia grar & fob o sfa steaferes T=1 8 3R 319t Jor-sfietar o1 garRnfsd
T T Far T 2 |

15. Frefaiad fore sTawen/ STeedati § e i Tihiae gig T fer off 2

(A) el (B) Had 11

(C) e [ wa 3ifem (D) <haet 11 ug Afa|
16. TmfciRad fore sTawen/ sTawensii § Jogel § Had 31 Fae 53 ?

(A) whad [ (B) <haet 11

(C) Haa w1l (D) <ot I Ug 3Afaw
17. Trataiad < § -9 fedia 37w &7 3ee & ?

A) (B) sretem

(C) S (D) TSl
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Read the given passage and answer the Q. Nos. 15 to 17 :

Demographic Transition Theory

The first stage has high fertility and high mortality because people
reproduce more to compensate for the deaths due to epidemics and
variable food supply. The population growth is slow and most of the
people are engaged in agriculture where large families are an asset. Life
expectancy is low, people are mostly illiterate and have low levels of
technology. Two hundred years ago all the countries of the world were in
this stage.

Fertility remains high in the beginning of second stage but it
declines with time. This is accompanied by reduced mortality rate.
Improvements in sanitation and health conditions lead to decline in
mortality. Because of this gap the net addition to population is high.

In the last stage, both fertility and mortality decline considerably.
The population is either stable or grows slowly. The population becomes
urbanished, literate and has high technical know-how and deliberately
controls the family size.

This shows that human beings are extremely flexible and are able to
adjust their fertility.

15. In which of the following stage/stages, the natural growth of population

was/were almost stagnant ? 1
(A) OnlylI (B) Only II
(C) Only I and Last (D) Only II and Last

16. In which of the following stage/stages, the death rate declined the most ? 1

(A) Onlyl (B) Only II
(C) OnlyIandII (D) Only I and Last
17. Which one among the following countries is an example of second stage ? 1
(A) Kenya (B) Bangladesh
(C) dJapan (D) Canada

64/4/1/21 11 VWAARAAAAAAAAAAAAAAAAAAA, P.T.O.
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(SI9 AT 18 TS 19 Fid AMNA T & 1) (2 x 3=6)

18. feuwTu r=ae ! eayEe ufeu 3R 36eh et feu e i o 3 fafaw
a1 §TH

ST 31T SHR USd ¢ 379 et Sieret ol JeATd & TUET AT TG Sieet o T8
ST 2 | heft-sheft 31Taeh ATaT-fodT IuER % foTu STTeR! STeTaTe of a8 | oo ®
JTTYeh] 3TETIeh gTd & | fopelt oft foane &t feufa & st T sehia & &ff 9t 2 | 3
TR 3ok FaErll B1d & S B T YT B I 31T AT YgH hd & | 31 |eft
T sh1 Hard Terfire pierel Bt & S WA o seet WTed gt & | e, fe, farfy,
TIITE 3R HARSH ScTlG hl ST HICTdl shi STTEIhAT § | $4 AT I 3
Hgifaes T 3R foramenes wfkeror Sl strawashdl BId & | qataeh fShamehett e feet |
AT § | ST ST Sl h1 Toh HEca Ul Sheh & FalTeh ST qaiTaeh (Sharehetd|
1 Feare St siftren, SaTarmies gfe & uftfird fomom 3t wmsieransi gr g 2 |

JTTfeh Torehma <At STRfTeh T3] § @RTI ST U ST STIT JIfieh Haed H B
AT AT | Toh Trehfiaa STeieawen § g Hieh qaiash Shamhetdl § USFTR 91d & 37K

3TUEITRA A AT 1 fgefioeh Tt § SRR 8 & |

(18.1) ‘SHuIfoRd’ ST HeeL h1 Teh HEcTIUl hTeh T & ? T HIT | 1

(18.2) Tgritare Tal qefiareh &1k o fohaTehaiTdl H 3TCR ohl TIE HIT | 1

(18.3) “qefareh fhameherdl o Icated 3R fafwar M1 |ffifera g € |7 39 %A < g
HIT | 1

19. fewTu 3 &1 erHYdes 3ter Hifee 37 3 i feu e et 61 3w fafeu -
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SECTION - B

(Q. Nos. 18 and 19 are Source Based Questions.) (2x3=06)

18. Read the given passage carefully and answer the questions that follow :
Tertiary Sector

When you fall ill you go to your family doctor or you call a doctor.
Sometimes your parents take you to a hospital for treatment. While in
school, you are taught by your teachers. In the event of any dispute, legal
opinion is obtained from a lawyer. Likewise, there are many professionals
who provide their services against payment of their fee. Thus, all types of
services are special skills provided in exchange of payments. Health,
education, law, governance and recreation etc. require professional skills.
These services require other theoretical knowledge and practical training.
Tertiary activities are related to the service sector. Manpower is an
important component of the service sector as most of the tertiary activities
are performed by skilled labour, professionally trained experts and
consultants.

In the initial stages of economic development, larger proportion of
people worked in the primary sector. In a developed economy, the majority
of workers get employment in tertiary activity and a moderate proportion
1s employed in the secondary sector.

(18.1) Why is ‘manpower’ an important factor of service sector ? Explain. 1

(18.2) Explain the difference between the activities of secondary and
tertiary sectors. 1

(18.3) “Tertiary activities include both production and exchange.” Support
the statement. 1

19. Study the given diagram carefully and answer the questions that follow :

64/4/1/21 13 VWAARAAAAAAAAAAAAAAAAAAA, P.T.O.
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(19.1) HaTfYeh TR FcRId dTct &1 Tl oh ATH TARIT | Y+l=1
(19.2) 3T Aftrehl & Ga8 R A o Sl hg WA s T faaflaw | %+ %=1
(19.3) g & T feha SifreTd ek & ? 1

M : FrafeRea we Faa gfvafia aheii + fog s s 19 F AW e
19.  “gur o fafer &aren o o wewTiiTar e &1 wertes fomTar sgad foega 8 |7 sHHeA Al gfE

Hifo | 3
G -1
(99 GE&AT 20 ¥ 23 FY-ITAI T & 1) (4x3=12)
20. (a) UHE TEEHT o R=1ar fope TR AU SR 1 STTUR 99aT 8 7 IS8 dfegd
ST T | 3
AT
(b) ITCIMTT IR eI I T ISTEWN Hlgd A T HITT | 3
21. (a) NG ‘Seishifd TR % foreal oA 323l 1 oo hifs | 3
A
(b) ‘R T et ifa’ Y ot 7 e ferranati w6 fargersor Hifsm | 3
22. “TRBId < HIETRTUT i SR Shi IGTEI Higd ARG ShiTT | 3
23. 9Rd H ‘TR 3l fuer’ & Tuen % queE % HiE a9 U™ gImsy 3R 366
STEAT SHITT | 3
Ts-¥
(T G124 9§ 28 EE-ITTTFE 1) (5 x 5 = 25)
24. (a) -5 e gfd o8 THa forma afdeed’ g il & 7 A foeh™@ & =R
T 1 ST HINT | 1+4=5
AL
(b) faea T 2020 % FTAR FohE <1 1 WG foh™ YEhish’ Tdr=d § 7 WA faeh™ b
TR IUTTHI <h! SATEHAT HIfT | 1+4 =5
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(19.1) Write the names of two states with highest percentage of

cultivators. Yo+ %=1
(19.2) Write the names of two Union Territories having the highest

percentage of other workers. Y+ %=1
(19.3) What is the approximate percentage of cultivators in Tripura ? 1

Note : Following question is for Visually Impaired Candidates
only in lieu of Q. No. 19 :

19. “Spatial variation of work participation rate in different sectors in the
country is very wide.” Support the statement. 3
SECTION - C
(Q. Nos. 20 to 23 are Short Answer Type Questions.) 4x3=12)
20. (a) How do differences in national resources become the basis of
international trade ? Explain with examples. 3
OR
(b) Explain the differences between the inland and out-ports with
examples. 3
21. (a) Analyse any three objectives of ‘Jal Kranti Abhiyan’ in India. 3
OR
(b) Analyse any three key features of ‘Indian National Water Policy’. 3
22. Explain the concept of ‘Humanisation of Nature’ by giving examples. 3
23. Suggest any three measures to solve the problem of ‘Urban Waste
Disposal’ in India and explain them. 3
SECTION -D
(Q. Nos. 24 to 28 are Long Answer Type Questions.) (5 x5=25)
24. (a) Which organisation publishes the ‘Human Development Report’
every year ? Explain the four pillars of human development’. 1+4=5
OR

(b) Which country has the highest rank in the world in ‘Human
Development Index’ in 2020 ? Explain four approaches of human
development. 1+4=5

64/4/1/21 15 VWAARAAAAAAAAAAAAAAAAAAA, P.T.O.



25.1ﬁwﬁaﬁwu§mwaﬁﬁﬁqﬁﬁﬁwﬁaﬂwaﬁm| 5

26. Tazad Iwg TR’ % He il 3R Afed AT i | 5

27. (a) YINA ¥ @S TEIEHT o TR0 o fohegl UTe SUTAT Shl STt I | 5
JAYAT

(b) YA o HeH T G o1l o HExd oh! SHTEAT I | 5

28. (a) “YNd H UTSY @34 ATk HlALTseh Td Herq qiae Jurelt 8 |7 Igrewl afed

39 DY h1 TG HINT | 5
Jrgan
(b) “forwa & 998 ¢ TSH I % &9 H WRA I AU TIM g |7 39 HYA I I¢EN
Tfed w@ HifT | 5
GE-§
(I3 §&TT 29 T 30 AR AERATFE 1) (2 x 5 =10)

29. feu Tt fova & it W@T-wmtas w A Wit @@ s A, B, C, D, E, F 3R G
o ®Y H 3ifehd A1 AT 7 | fohel Ui 61 W&l qga FHefaigd Smer i e |
HIT 3T 376 T A1 3k T it 78 e w fafe 5x1=5

Torega AMUIS ST Y 1 T &

VTS U[EH ITeH T Teh &

TR -hT ST THTT o ol o) 1 9H

TR T Th YW FST o

Y 1 T TGE STaUEHE 91 e

Teh 1-uREe T8t

G. TIoTaTH! UIERT 1 Th &
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25. Describe any five features of commercial livestock rearing in the world. 5

26. Explain with examples the importance of ‘Satellite Communication’ in the
world. 5

27. (a) Explain any five measures for the conservation of mineral resources
in India. 5

OR

(b) Explain the importance of solar energy in Indian context. 5

28. (a) “Pipelines are the most convenient and efficient mode of

transportation in India.” Examine the statement with examples. 5
OR
(b) “India has the second largest road networks in the world.” Examine
the statement with examples. 5
SECTION - E
(Q. Nos. 29 and 30 are Map Based Questions.) (2x5=10)

29. On the given political outline Map of the World, seven geographical
features have been marked as A, B, C, D, E, F and G. Identify any FIVE
correctly with the help of following information and write their correct
names on the lines marked near them : 5x1=5

An area of extensive commercial grain farming

An area of commercial livestock rearing

Eastern most station of “Trans-Canadian Railways’
A major seaport of Asia

A major international airport of Europe

T EUQwpE

A shipping canal
G. An area of ‘Nomadic Herding’
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e : TrfeRaa e e grEaTiera gt o fote e se 29 % F W 3 | 6

G AT % I foifeT | 5x1=5
29.1 3TNl % Y9 faeqa anforss 3 iy &= w1 A fofaw |

29.2  cftroft TRt o U ATfUS U U o & w1 A fafgu |

29.3  UR-hATSTT WHNT o Yel R o TIH o1 9 fetfan |

29.4 Y % JH@ T T 1 AW fAfav |

29.5 T % U YIW IAUTH A qoH o1 19 feafaw |

29.6  HT AR 3R AT AN 1 SIS ATt 78X 3l A8 e |

29.7 =gt o forga aTfiTS™ 3T iy % sk W@ & 1 T fafem |

30. few T v % Terifoes Yar-Art o Fefefad 3 & foredi wie ol Suge faedi @ gaid
3T 37k T feafge 5x1=5
30.1 GuH e SHEET Tcd I1edl T
30.2 I 3G UV T
30.3 EIKIEN — dfd HI @

30.4 FAA —HEA HT@H

30.5  TATRY — T8 31356 il @M

30.6  ®fegd — yqE gl U

30.7  3TEHCIEIE — Y@ FaUEH Iy o<

e : Ffafaa s shaet giEaTtem qheniz o foTe s 9@ 30 & ©H w g | 64l

9T T o ST ferRaT | 5x1=5
30.1 WA SHEE 8 dTet TS o1 A1 fefgu |

30.2 il IcTEH UM T T M foifaw |

30.3 BT die <l @ fore T 3 e & 7

304 oAl HFEA R TH fFT T HfRAE ?

30.5 3 U 1 AW ferfaq STl T oiig - 37reh il @ feua # |

30.6 EfceT gggl uaH fpa s A fdra g @

30.7 JIEHETE JaUP oy ueH fohE T U fRua R 7

64/4/1/21 18 VWAARAAAAAAAAAAAAAAAAAAA,



[EzE
1
=

"
-

Note: Following questions are for Visually Impaired
Candidates only in lieu of Q. No. 29. Answer any five
questions. 5x1=5

29.1 Name the major area of extensive commercial grain farming of
Argentina.

29.2 Name an area of commercial livestock rearing of South America.
29.3 Name the easternmost station of “Trans-Canadian Railways’.
29.4 Name the major seaport of Japan.

29.5 Name a major international airport of France.

29.6  Name the canal linking Red sea with Mediterranean sea.

29.7 Name a major area of extensive commercial grain farming of New
Zealand.

30. Locate and label any five of the following geographical features on the
given political outline Map of India with appropriate symbols : 5x1=5

30.1 A state with highest population density
30.2  State leading in the production of coffee
30.3 Hazaribagh : Copper mines

30.4  Neyveli : Coal mines

30.5  Ratnagiri : Iron ore mines

30.6  Haldia : Major seaport

30.7 Ahmedabad : Major international airport

Note : Following questions are for Visually Impaired Candidates
only in lieu of Q. No. 30. Answer any five questions. 5x1=5

30.1 Name the state with highest population density.

30.2 Name the leading state in production of coffee.

30.3  In which state, Hazaribagh copper mines are located ?

30.4 In which state, Neyveli coal mines are located ?

30.5 Name the state, where Ratnagiri iron-ore mines are located.
30.6 In which state, Haldia seaport is located ?

30.7 In which state, Ahmedabad international airport is located ?
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